3. Creation of domestic demands for startups

AN F T TR A0 w5 g we
[Option ID = 2059]

4. Encouraging startups in defence sectors

18] BH H w2251 1 TIeEiET HA

[Option ID = 2060]
Topic:- 12_GP_SH2_Set1_A

1)
The following table shows the percentaze (%) distrihution of total population. literate males
and literate females 1n six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1s 8:7. Based on the data in the table.
answer the questions 1-5:

Oitv-wise Distribution of Population

Gty (“s) Population | (%) Literate Males | (%) Literate Females
(out of 1.5 crore) {out of 40 lakh) (out of 25 lakh)
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
ol 10% 15% 10%

Tetertaa wiferm | @7 o A-F ° Fe SeEe, WA TR AT wA [ w6 e wieer (%) 5o
40 =NF W 25 WNE 7| Fel AAEEAT § G S0 EE 5 59 §:7 7| afierhl B e SEn W0 -
E%Wfﬁ‘rﬂ:

(%) s | (%) =vew o | (%) = e

T s et | et | esaedd)
A 16% 18% 24%
B 13% 12% 18%
C 21% 20% 129%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%:

The illiterate population of City A s

T A i AT e Tl 27

[Question ID = 566][Question Description = 101_00_General_23_SEPT22_Q01]



2)

10.8 1akh
10.8 =g
[Option ID = 2261]
14.2 lakh
14.2 =ma

[Option ID = 2262]
16.8 lakh

16.8 ==

[Option ID = 2263]
15 lakh

18 =™

[Option ID = 2264]

The following table shows the percentage (%) diztribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 3:7. Based on the data in the table.
answer the gquestions 1-3:

Ortv-wise Distribution of Population

(%) Population

(%) Literate Males

(%) Literate Females

e (ouf of 1.5 crore) {out of 40 lakh) (out of 25 lakh)
A 16% 18% 24%
B 18% 2% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
£ 10% 15% 10%




FrAeifiga difer @ @E 9 A-F B e SeeieE, A Il i 5T w6 e wieed (%) g9
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
Eiﬁwﬁﬁ?m:

(%) s | (%) e o | (%) = e

T s iD) | (oera 3D | sared )
A 16% 18% 24%
B 13% 12% 13%
C 21% 20% 12%
D 15% 16% 16%
E I0% 19% 20%
F 10% 15% 10%

Number of Iiterate males of City E as a percentage of number of literate females of city F 1

s B =aw I 5 @ o F oo wea e o dem e aieem 2 o

[Question ID = 567][Question Description = 102_00_General_23_SEPT22_Q02]

1 240%
[Option ID = 2265]
2 118%

[Option ID = 2266]
3. 304%

[Option ID = 2267]

4. 32.89%
[Option ID = 2268]

3)
The following table shows the percentage (%) diztrihution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 3:7. Based on the data in the table.
answer the questions 1-3:

Ortv-wise Distribution of Population

= (%) Population | (%) Literate Males | (%) Literate Females
= (ouf of 1.5 crore) {out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

c 1% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

F 10% 15% 10%




FrAeifiga difer @ @E 9 A-F B e SeeieE, A Il i 5T w6 e wieed (%) g9
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
Eiﬁwﬁﬁ?m:

(%) s | (%) e o | (%) = e
T (s | (sommmE ) | (25 A
A 16% 18% 24%
B 18% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%
Literate population of City Eis.......cv.ueviei.. % of the populatione of E.

B ot D = T = e bt e e T = ) B e e e

[Question ID = 568][Question Description = 103_00_General_23_SEPT22_Q03]
1. 40
[Option ID = 2269]
2. B4
[Option ID = 2270]
3. 95

[Option ID = 2271]
4. 49

[Option ID = 2272]

4)
The following table shows the percentage (%) dizstribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 8:7. Based on the data in the table.
answer the guestions 1-5:

Ortv-wise Distribution of Population

.. | (%) Population | (%) Literate Males | (%) Literate Females
= (out of 1.5 crore) (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 2% 18%

(@ 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

i 10% 156% 10%




I

FrAeifiga e 0 @E 9w A-F B e SeieE, S Il i 5 w6 e g (%) 59
T 2| =t 2R wET O e B SO, W TR S A meE e R S A LS s,
40 T W 25 WAE 7| T A § W S A S 807 7| AR § S F SNEE W e -
f%ﬁéﬁﬁﬂ:

(%) smEm | (%) =mem 9w | (%) mE e

T s iD) | (oera 3D | sared )
A 16% 18% 24%
B 13% 12% 13%
C 21% 20% 12%
D 15% 16% 16%
E I0% 19% 20%
F 10% 15% 10%

The difference between the illiterate population and the literate population of City C is

TR O T FAEE 3 WA S F A e S e 7

[Question ID = 569][Question Description = 104_00_General_23_SEPT22_Q04]
. 85lakh

8.H M
[Option ID = 2273]
2. 9.5]lakh

0.5 =g

[Option ID = 2274]
3. 10.5 lakh

10.5 =g

[Option ID = 2275]
4. 90.5lakh

20.5 7™

[Option ID = 2276]



5)
The following table shows the percentage (%) distribution of total population. literate males
and literate females in six cities A-F. In all six cities together. total population. number of
literate males and number of literate females are 1.5 crore. 40 lakh and 25 lakh. respectively.
Ratio of males to females among the total population 1= 8:7. Based on the data in the table.
answer the questions 1-3:

Ortv-wise Distribution of Population

= (%) Population | (%) Literate Males | (%) Literate Females
o fout of 1.5 crore) | (out of 40 lakh) (out of 25 lakh)

A 16% 18% 24%

B 18% 12% 18%

C 21% 20% 12%

D 15% 16% 16%

E 20% 19% 20%

B 10% 15% 10%

TrAtetga aiferm § =7 9120 A-F 0 55 S99, 9150 9591 S 0T e S e uiaEe (%) 59

T B | T 2 WA T e B SO, W T 6 S A W T R S e 1S S,
40 = 3R 25 WNE 7| FeA FAEEAT § T A0 B H S 8:7 | atflerhl ® i R W WU |-

5 % = ST
A RN 5

(%) s | (%) =new o | (%) = e

= Ly | et | (swedd)
A 16% 18% 24%
B 13% 12% 18%
C 21% 20% 12%
D 15% 16% 16%
E 20% 19% 20%
F 10% 15% 10%

Number of literate males of City D 18, .vveevivcniannns % more than the numher of literate females

of City D.
wier D 7 T Tl fi T F e D e T oAl e e aiee s a i
[Question ID = 570][Question Description = 105_00_General_23_SEPT22_Q05]
1.
160

[Option ID = 2277]
2. &p

[Option ID = 2278]
3. 61.538

[Option ID = 2279]
4. 120

[Option ID = 2280]



Topic:- 12_GP_SH2_Set1_B

1) .
Which of the following is a teacher-centred method 7

FreAleigs @ 9 =W o v Eas—saa Eme 22

[Question ID = 571][Question Description = 106_00_General_23_SEPT22_Q06]
1. Problem solvine
HEHET FHTIH

[Option ID = 2281]
2. Discussion methad

P [

TE=EHT TEE

[Option ID = 2282]
3. Imguiry approach

H_W : T

[Option ID = 2283]

4. Demonstration method.
S R
[Option ID = 2284]
2) Given below are two statements : One i=s labelled as Asseition A and the other is labelled as
Reason R.
Assertion (A):  One of the abjectives of higher education is to promote critical and creative
thinking ahilities in students.
Reasons (R) : Critical and creative thinking abilities arve developed by rote learning.
In the light of the above statements. choose the most appropriate answer from the options
ziven below :
= =1 e AU T F o wF A9HeE (Assertion (A)) F =9 9 TeiEs & A st 3F 19 (Reasons (R))
FEIT
FHEE (A) T o o T SevA Tl § AT 3 g (= S Araais] A
AT 2
= (R) AT § FATEF 9 904 24 & R 9w 2t 2

ST FUE F A0 6, 4\ T Ewen § 3 mee 30 I 9 99 S

[Question ID = 572][Question Description = 107_00_General_23_SEPT22_Q07]

. Both (A) and (R) are correct and (R) is the correct explanation of (A)



(A) #F (R) 3F1 T4 7 317 (R), (A)F1 77 == 2
[Option ID = 2285]
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) =7 (R) =1 T41 =, =134 (R), (A) F1 =51 =men 73 2

[Option ID = 2286]
3. (A) iz correct but (R) 1= not correct

(A) TF 2, = (R 981 981 7
[Option ID = 2287]
4. (A) is not correct but (R) 1s correct.
(A) 771 79 2, A (R) 7T 2

[Option ID = 2288]

3)

Which of the following are common eriteria of tests?

(A)  Administrative eondition

(B)y  All questions of higher order thinking skills,
(Cy Time limit

D) Nature of questicns

(E) Marlks allocation
Choose the correct answer from the options given below :
FEietEa & B WiE F e  hes A E A

(A) e

(B) =iz =ed ®we = o e
(C) == =
(D) ol e =

(E) =% A2

a0 o faredl B | WA S 1 =9 i

[Question ID = 573][Question Description = 108_00_General_23_SEPT22_Q08]
1. A C.D Only

Fa A CHTD

[Option ID = 2289]
2. B.C.D Only

FAAB. CHTD
[Option ID = 2290]
3. B.C.DandE Only
FaaB.C.DERE

[Option ID = 2291]
4 A C.Dand E Only



1.

1.

2.

FaA A C.D AR E

[Option ID = 2292]

4)

In the context of curriculum. which of the following are correct?

(A)
(B)
(C)
(D)
(E)

Curriculum should be modified rezularly

Curriculum should have theoretical concepts only

Curriculum should be derived from constitutional imperatives of the country
Curriculum should be made as per needs of industry & society

Curriculum should be teacher-centric.

Choose the correct answer from the options ziven below :

WAl F HEd § FetEiEs 3 2 wE-wE #16 A

(A)  OrE=EEl H FEEE B @ ST S =S|

(B) TIEEEl 8 Fad ASEF TFEm #1 2E =mEn)

(C)  wrz=r=a] 1 591 1 FAaF SHEEaE @ e e e
(D) TrE=r=Al 1 FEN T HETE S AETIERAIA F SAAN S A =i
(B) o=l TEE—Fimn wEl =)

fo o =01 © T TA I W T A

[Question ID = 574][Question Description = 109_00_General_23_SEPT22_Q09]

A.D and E Only

Fa9 A, DHATE

[Option ID = 2293]

C and D Only

A= C 5 m D

[Option ID = 2294]

A Cand D Only

Faa A, C 3 D

[Option ID = 2295]

ABCandD

ABC#HID

[Option ID = 2296]

5)

What does the symbal@- siemify?

pLied @ [AeArE | | [FE5 AR 9% Faa] 2 7

[Question ID = 575][Question Description = 110_00_General_23_SEPT22_Q10]

copyrighted material

aiaferentasn s mm

[Option ID = 2297]

copvable material



[Option ID = 2298]
3. Cl‘Bﬂti.VE COMMmMons

PI" 22 [.]_r'_“_.": ﬂa—‘l_"q:g

[Option ID = 2299]
4. copyving commons

qi_’l q’[s_ il_ili;;I
[Option ID = 2300]

6 . . .
) When a research study 1= conducted to know about an unknown area and collect information.

1t 1s known as
= Tl s #9 F FEY § AR SF 09 TR A (90 TG 55 SEem e 9 2, A1 58 [
O H 9 = 0 AE A R

[Question ID = 576][Question Description = 111_00_General_23_SEPT22_Q11]
1. Pilot Study

[Option ID = 2301]
Feasihilitv study
SR AT

[Option ID = 2302]

3. Explanatory research
ST M

[Option ID = 2303]

4. Exploratory research
TEUEF I

[Option ID = 2304]

7 A true zero point is the feature of
F AEAEE 7= {K'?é, el § 3 e s = 7

[Question ID = 577][Question Description = 112_00_General_23_SEPT22_Q12]

Nominal seale

[Option ID = 2305]

2. Ratio scale

[Option ID = 2306]
3. Inferval zcale



'ER_I'ITIFTr 3 -m:

[Option ID = 2307]
4. Ovrdinal seale

[Option ID = 2308]

8) . . N : S —
Which of the following are similarity elements 1n both gqualitative and gquantitative research?
(A) Answering research guestions.
(B) Preference to macro data.

(C) Do not suffer from issues of error.
(D) Limportance to transparency.

(E) Exploration of variation.

Choose the correct answer from the options given below :
T 3T HTAEH 0 ] 9 H AEE A 2 ¢
(A) 09 U F I A
(B) T =R H A
(Cy  Fhe = wHal | W T 2
(D) "EaE % Had
(E) S F7 s=aem

T5u T e | H TRl 39 H SIS

[Question ID = 578][Question Description = 113_00_General_23_SEPT22_Q13]
1. A B. COnly

a9 A.B. C
[Option ID = 2309]
2. B.C.DOnly

#aa B. C. D

[Option ID = 2310]
3. AD.E Only

a7 A.D. E

[Option ID = 2311]
4. A B.E Only

FT9A. B, E

[Option ID = 2312]



%) Which: of the following are unethical in the context of research?

(A) Seeking informed consent of respondents.

(B) Offering incentives to respondents,

(C) Coercing respondents for sensitive personal infarmation
(D) Hiding the research purpose from respondents.

(E) Maintaining confidentiality

Choose the correct answer from the options given helow :

g % EHEH § EienEa 5 H wA FH SHEE A7

(A)  IeREETAT F TgEd #EElE T

(B)  =AEs] F WIEETE F A A

(@) SEIEAIA] # HATE AE HE % 0 g e
(D) FEEE | wh TEEA S

(E) T 591 & 1Al

o0 T Tk § T TR I R = R

[Question ID = 579][Question Description = 114_00_General_23_SEPT22_Q14]
1. A B.COnly

Fa9 A.B. C

[Option ID = 2313]
. B, C DOnly

FT5 B, C.D
[Option ID = 2314]

3. C.D.EOnly
F95 C. D, E
[Option ID = 2315]

4 A B.DOnly
Fa5 A B.D

[Option ID = 2316]

10)

Given below ave two statements :

Statement [ : Triangulation is deseribed as that of researchers taking different
perspectives in answerlng research gquestions.

Statement IT :  Trmangulation is expected to produce knowledze from different insights
to promote quality research.

In the light of the above statements. choose the most appropriate answer from the options

given below :



FUFL:  TAGSTET I T F I O H IEEAA G AT IR0 T B F AT S A
Foa I1: T @ sman 1 = 2 T <98 o ma F madh % fow it A 3 o
= =

I HUA F A H, A= 5 {EeT 0 0 HeE 39 36 S A

[Question ID = 580][Question Description = 115_00_General_23_SEPT22_Q15]

1. Both Statement I and Statement II are correct

Foq [ A0 [ 5 54 7
[Option ID = 2317]
2. PBoth Statement [ and Statement II are incorrect
Fo 1 3 I 5F1 = £
[Option ID = 2318]

3. Btatement I 15 correct but Statement II is Incorvect

Fote G T 3
F [ O71 7, o =494 [ 74 7

[Option ID = 2319]

4.  Statement I isincorrect but Statement II iz correct

FoH [ A B, S weE LA 2

[Option ID = 2320]

) Which of the following iz a semantic barrier]

=Tieiiay 3 ® FE-51 TF e e 27

[Question ID = 581][Question Description = 116_00_General_23_SEPT22_Q16]

- Blurred image on televizion

ZEMTS W GHE 9
[Option ID = 2321]

Unclear printing in newspapers

AN 99 A998 29 w0

[Option ID = 2322]
3. Btatic broadeasting

[Option ID = 2323]

4. Redundancy 1n writing

= = =
g H =Hidi]



[Option ID = 2324]

12 ik 3 T ;
) In communication, channel richness 12 highest m the casze of

HUGO H, T TR 9 8 H RS a2
[Question ID = 582][Question Description = 117_00_General_23_SEPT22_Q17]
Television
[Option ID = 2325]
Newspapers

[Option ID = 2326]

3. Face-to-face conversation

AT —HH F FEE

[Option ID = 2327]
4. Formal reports

[Option ID = 2328]

13 ) . ) . .
) Kinesics. when used. will communicate a person’s

(A) Social status

(B) Level of invelvement
(C) Emotional guotient
(D) Political mobility

(E) Language ambiguity

Choose the eorrect answer from the options given below :
SPTATITEET 1 39 (FH1 40 1 F WU

(A) =R O

(B)  =iwleE 7 =@ w1
(C) aTEeET e

(D) T A
(E) 791 s

oo v fawe © § TF 3 5 9E F

[Question ID = 583][Question Description = 118_00_General_23_SEPT22_Q18]
1. A B.COnly

F77 A B. C

[Option ID = 2329]
2. B.C.DOnly

FaAB. C.D



[Option ID = 2330]
3 D.C.E Only
Fa3 D, C. E
[Option ID = 2331]

4. A D.EOnly
#Fa9A.D. E
[Option ID = 2332]

14)
Given below arve two statements :

Statement [ :  Language and other svmbalic means of communication are surely social
products,
Statement IT :  Communication media always provide the feel-good-factor to their users

In the light of the above statements. choose the correct answer from the options given below :

:I‘IH?.T?F'«‘I‘-IT—T:UTI"Tﬁ‘

g I0:  E9e HiTS He" 94 TARRUAT B SEE - 3 -0 T i R

IV FYA F OAENE 5, T 150 0 EEem 8 8 HE I = R

[Question ID = 584][Question Description = 119_00_General_23_SEPT22_Q19]

- Both Statement T and Statement II ave true

e I3t Il aF 979 7

[Option ID = 2333]

2. Both Statement I and Statement IT are false

Fge [ 5 I =H @8 7
[Option ID = 2334]

3. Statement I is true but Statement IT 1= false
w0 2, i %29 I 38 2

[Option ID = 2335]
4. Statement I 1s false but Statement II 1s true

Tl AT R, A e L Ha 2

[Option ID = 2336]



15)
Identitv the correct sequence of the following elements 1n the mass communication process,

{A) Selective exposure

(B) Selective attention

() Cognitive dissonance
(D) Congruent information
{E} Confirmation of bias

Cheose the correet answer from the options given helow :

FA-HIT A § Feetge qodl & OE SawE i aaE-

(A) A TEEE
(B) =afa w=aH
(C) wseras =gy
(D)  FFEE =
(E) waEmE 9w

o 0 el § | HE 39 B =EA A

[Question ID = 585][Question Description = 120_00_General_23_SEPT22_Q20]
" BADCE
[Option ID = 2337]
2. AE.CBD
[Option ID = 2338]
3 C.D.E.B.A

[Option ID = 2339]
4 E.CABD

[Option ID = 2340]
16) Find the number that must be added to the terms of the ratio 13:25 to make 1t equal to 7:10,

o7 WAl T RIAU (599 13:25 % S # 7:10 % s B 6 (o1 el 2
[Question ID = 586][Question Description = 121_00_General_23_SEPT22_Q21]
1. R

[Option ID = 2341]
2. 11

[Option ID = 2342]
3. 15

[Option ID = 2343]
4. 13

[Option ID = 2344]

17)  Find the next term in the series given below

5,9, 14, 20, 27, 35, ?



= £ =i g ¥ aven 9 T i

5, 8,14, 20, 27, 35, ?

[Question ID = 587][Question Description = 122_00_General_23_SEPT22_Q22]

162
[Option ID = 2345]
270

[Option ID = 2346]
3. 44

[Option ID = 2347]
4 42

[Option ID = 2348]

18) A sum of Rs. 16800 is divided into two parts. One part 1s lent at a simple rate of interest of 6%
per annum and the other part at 8% per annum. After 2 years the total sum received is Rs.
19.000. Find the sum lent at the rate of 6% and 5% respectively.

U 16300 F I F EOAEN § AE AW 7| 95H 9T F 6% Wiaad 1 WS4 6 2 9 39F f5m
T ST GE AV F 8% WieEs H1 o W Fan @ S #1 51 = a me i i e e 19000 w991 2
T 6% T 8% 1 o1 W IUW 2] T e O3 Fhe v

[Question ID = 588][Question Description = 123_00_General_23_SEPT22_Q23]

1. 12200, 4600
[Option ID = 2349]

2. 11000, 5800

[Option ID = 2350]
3. 12000, 4800

[Option ID = 2351]
4. 4800. 12000

[Option ID = 2352]

19 In a certain coding scheme, 'UNIVERSITY is coded as ‘EIINRSTUVY', How INSTITUTION
shall be coded in the same coding scheme?

fFeft 5= F2 91 8 UNIVERSITY #1 ‘EIINRSTUVY + =9 § 2 =g 31 701 2| = ovm 52
7T 9 INSTITUTION T8 W1 F2ag 5 o ?
[Question ID = 589][Question Description = 124_00_General_23_SEPT22_Q24]
1. IIINNOSTTTU
[Option ID = 2353]
2. IININOSUTTT
[Option ID = 2354]
3. INIINOSTUTT

[Option ID = 2355]
4. IINNIOSTTTU

[Option ID = 2356]

20) The average welght of 30 persons 1s inereased by 2 ke, when one of them whose weight 1s 40
kg. 1= replaced by a new perzon. What is the weight of the new person?



30 = F oftEm 79E § 2 fEn. #1 9f 76 R, S99 @ v e 999 40 TEn. ® ) R e
= A UHETYT T 15F A 2| 0 S5 6 ge ;R

[Question ID = 590][Question Description = 125_00_General_23_SEPT22_Q25]

1. 98 kg

08 T
[Option ID = 2357]

2. 100 kg

100 e
[Option ID = 2358]
3. 102 kg
102 T
[Option ID = 2359]
4 o5kg
95 TFame

[Option ID = 2360]

21 . z P i .
) Which of the following propostition 1s contrary to the proposition “All women are honest™

FefieiiEs F-o1 ahaed | H@Hl JEe0 SHFAR 7 aFaEd & duih 27
[Question ID = 591][Question Description = 126_00_General_23_SEPT22_Q26]
Some women are not honest,

[Option ID = 2361]
2. Mo women are honest.

[Option ID = 2362]
3. Bome women are not dishonest,

F5 RS TSAE TA A A

[Option ID = 2363]
4. Nowomen are dishonest.

[Option ID = 2364]



22)
Which of the following forms of categorical propostitions is valid?
(A) Some Sisnot P
(B) Some S1= P
{C) NoSisP
(D) AllSisP

Choose the correct answer from the options given below :

"= 4 3 & TP £ 0 e s SO £ 3.
FIIE] TRt gl = FErgEn ThEl § T=had Jiadn- 921 77

(A) FBSPTHI
B) FTSPF

(C)y FEdSPAHE
D) =fisPE

fom T fae B @ HA S W R

[Question ID = 592][Question Description = 127_00_General_23_SEPT22_Q27]
1 A BandC Only

Fae A. B3 C
[Option ID = 2365]
2. B.CandD Only
g B, C #:r D
[Option ID = 2366]
3. A CandD Only
FaTA CHF D

[Option ID = 2367]
4 ABCD

AB.C.D

[Option ID = 2368]

23 .
‘ Which informal logical fallacy is committed in the following argument — 'No one has shown

that aliens did not create the crop circles. So the crop civcles must have been made by the
aliens?

FefeEs 76 § FH-T SFECE o 2 B-  FE 9 98 mEEE AR 2 T v (vfewe) 3 e
AT T T 2| T TEA AR AT T W WIEAET (U ) g s T A

[Question ID = 593][Question Description = 128_00_General_23_SEPT22_Q28]

. Begging the question

[Option ID = 2369]
2. Appeal to Ignorance

[Option ID = 2370]



3. Fallacy of accident

U =T

[Option ID = 2371]
4. Appeal to authority

[Option ID = 2372]

24) .
zaven below are two statementis :

Statement I :  Amstotehan syllogism has three terms.

Statement 11 :  Nyaya syllogism has five terms.

In the hight of the above statements. choose the most appropriate answer from the options

given below :
4= 71w o E

FA [ AT A A A

e [ SR =EaEs | 9 U 5 A

I FYH AT H, A S0 T e 5 H HeE IUg S0 S A i

[Question ID = 594][Question Description = 129_00_General_23_SEPT22_Q29]

- Both Statement I and Statement IT ave correct

o I 5 I =@l &1 2
[Option ID = 2373]
2. -Both Statement I and Statement I are incorrect

[Option ID = 2374]

3 Statement [ 1= correct but Statement I is incorrect

Fom 1971 2, = Fa [L7es 7
[Option ID = 2375]

4. Statement I1s incorrect but Statement IT 1s correct

9= [T £, @ 94 I as 2

[Option ID = 2376]



25) . I - .
The proposition- ‘all things are non-eternal. because they are knowable’ 1s fallacious hecause

AT T S T-vNEE 7, AR G TR g # i -

[Question ID = 595][Question Description = 130_00_General_23_SEPT22_Q30]

- The middle term is non-exclusive.

T UE -5 2|
[Option ID = 2377]
2. The middle term is too narrow.
ey uE Ad wHM 2|
[Option ID = 2378]
The middle term 1= too wide
[Option ID = 2379]
4. Tt involves a contradictory middle term.
7z v faufimeds geaus = afgfew %200 2

[Option ID = 2380]
26) A destructive computer program that masquerades as a useful application is called

vx TaeEh o Wi F a3 # 991 e WAl 7 A U I SE e @ = i E

[Question ID = 596][Question Description = 131_00_General_23_SEPT22_Q31]
T Virus
=HETH

[Option ID = 2381]
Worm

=
[Option ID = 2382]

3. Trojan

[Option ID = 2383]
4. Firmware
%
TwH T4

[Option ID = 2384]



27) Given below are two statements ;
Statement I : The concept of cvber technology 1z descmbed as a wide range of

networked communication devices.

Statement II :  DMany sociologigts are concerned with people hecoming too dependent on

technology.

In the light of the above statements. choose the correct answer from the options eiven below :

~

e FaT R E

FoA ;A RN i OFEE W AW I F AeaF i UF S 09 F 'Y g e A
-
T [1: = J9T9 9 S0 % TR W T [ 7 S e a2

ITIF FUA F A0F °, 9 B o e § 9 w8 3 = e

[Question ID = 597][Question Description = 132_00_General_23_SEPT22_Q32]

1. Both Statement I and Statement II are true

[Option ID = 2385]
2. Both Statement I and Statement Il are false

w14 I 51 e 2
[Option ID = 2386]
3. Statement I is true but Statement IT 1= false
Fom 1 aea 7, =% w49 1 95 7

[Option ID = 2387]

4. Btatement I 1s false but Stateiment IT is true

Fyq [ =909 2, =1 F29 ToeT 2

[Option ID = 2388]

28)  The Microsoft Office Powerpoint. there are two types of slide orientation that are supported.

What are these orlentation types?

TTSHTATT?. ST TTaTTEs 3, o TR T5E A OEET A T STataee R S H Y

[Question ID = 598][Question Description = 133_00_General_23_SEPT22_Q33]

1. Portrait and Landscape

- 7



[Option ID = 2389]

2. Upright and Landscape
[Option ID = 2390]
3.

Portrait and Facedown

[Option ID = 2391]
4. Landscape and Facedown

[Option ID = 2392]

29) Consider the worlssheet helow:
A B C|D|E|F
1 | Data | Result
2]-4
3
4
If & uzer wants to do the following:
(1) Print “Within Budget” in cell B3 if the value 1n cell A2 1s less than or equal to 100.
(it) Print “Over Budget™ 1n cell B3 if the value in cell A2 is greater than 100: then what
formula would the user have to tvpe in order to achieve the above stated zoals?
A B C|D|E|F
1 | =rer | g
2|4
3
4

[ N:F N B | Bl By o
Iie Tz TR GG A Fledl 7
(1) afz F1Ee® A2 7 99 100 & F9 94y s30T 2, 91 ®gF B3 § T T aa

(ii) =z F1eF A2 1 99 100 § wAfoF 2, 71 #0F B3 8 2 “dm 7w, 91 I weA # WH e
% ToI0 TR F A A1 G 2T FAT B

[Question ID = 599][Question Description = 134_00_General_23_SEPT22_Q34]
1. =IF (A2<=100. "Within Budget”. "Over Budget”)

=% wF (A2<100. Tl g, =)
[Option ID = 2393]
2. =IF (A2-=100, "Over Budget”. “"Within Budzet™)

2

=3 TF (A2-=100, " ww, EfEE= )

[Option ID = 2394]
3. =IF (A2<=100, “Over Budget”, “Within Budget™)

=1 UF (A2<=100, “#HF g2, A )



[Option ID = 2395]
4. =IF (A2<=100. “Within Budget”, “Over Budget”)

= a1 F (A2<=100. At w7z, “wEr amz)
[Option ID = 2396]

30)
To receive email. you need an email provider. a connection to yvour provider and an email
application. If your Internet Sevice Provider (ISP) has a POP sever. vou have a wide cholce of
emall applications.

What does the acronym POP stand for?
T He WH O O SR S Hel YR, A9 WEET R Og TR FAEE 3T TF § HeT Urerhe
AETTRAT 2| Al AT SE2 Hay Ugidl (#E uE ) % e i gEr # a9 S0 O 56 Uherhee
THam T A O = = E

[Question ID = 600][Question Description = 135_00_General_23_SEPT22_Q35]

1 Page Overlay Protocol

[Option ID = 2397]
2. Post Office Protocol

[Option ID = 2398]

3. Power Outage Protocol

TR TS TR

[Option ID = 2399]
4. Poztal off Protocol

[Option ID = 2400]

31)

Given below are two statements :

Statement I :  Bioconecentration in humans can oceur due to consumption of fizh.

Statement 11T :  Bioconcentration 1s the tendency of hazardous substances to accumulate

in human tissues

In the hight of the above statements, choose the correct answer from the options @iven below :



o= 2 F9 B o E

F2A I TS ° Hoel %S9  FE0 A9-Awg0 7 Fhal
T [1:  FI-TT50 ARRE T0141 1 0FE 5o § UEEE 5 0 A

I FUH F AR °, A= 150 M0 S § 9 5 I 6 =0T S

[Question ID = 601][Question Description = 136_00_General_23_SEPT22_Q36]
. Both Statement I and Statement IT are true
o9 [ #0 o 99 7

[Option ID = 2401]
2. Both Statement I and Statement II are false

[Option ID = 2402]
3. Statement Iis true but Statement II is false

F4T [ 979 2, T F99 11 35 7

[Option ID = 2403]

4. Statement I is false but Statement II is true

[Option ID = 2404]

) Given below are two statements ; One is labelled as Assertion A and the other iz labelled as
Reason R,
Assertion (4):  Large scale dams also cause the Green House Gas emiszions.
Reasons (R) : When subinerged vegetation decays. 1t produces carbon dioxide which 1s a

sreen house gas.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

A T U B0 F U AT9He (Assertion (A)) % #9 § fWfEd & Al o 9% F (Reasons (R))

FEGH :
ARTEE (A) TauTer =g 0T 20 Tl & SeasH & 9 0 7 o B
F77 (R) o A A a9eia @ &9 e 2 A" FeE SR wEEEs 5ed 7l 2 o R o

Arer= 1 7|

I FUE F ATEE W, 99 5o T EEe § | 69 I o 99 S




[Question ID = 602][Question Description = 137_00_General_23_SEPT22_Q37]

1.

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A) =0 (R) =1 531 & 31 (R), (A) =1 771 =me 2

[Option ID = 2405]

2. Both (A) and (R) are true but (R) 15 NOT the correct explanation of (&)

(A) 57 (R) TF1 581 & w4 (R), (A) =1 78 =men 99 2

[Option ID = 2406]

3. (A) iz true but (B) is not false

(A) T 2 =il (R) 91 9471 2

[Option ID = 2407]

4. (A) is not false but (R) 1= trae

(A)=A 2 &% (R) 791 2

[Option ID = 2408]

33)

Wind energy

{A)
(B)
(C)
Dy
(E)

13 an intermitient energy

15 extremely useful at remote and 1solated places
does not depend upen weather

is a clean energy

does not have any enviornmental impact at all

Choose the most appropriate answer from the options given below :

Tae Al

(A)  TF S 7

(B) T4 57 UETR TFl 8 A I A
(C)  Hrg o [ 95w B

(D) UF == = A

(E) = wiEia wae faeme 75 2)

fau T el § | TR I W =99 AT

[Question ID = 603][Question Description = 138_00_General_23_SEPT22_Q38]
. ABC Only

Fa5 A. B, C

[Option ID = 2409]
2. A B.D Only

Fa= A B. D

[Option ID = 2410]



3. B.C.D Only

Fa5 B, C.D
[Option ID = 2411]

4 C.D.EOnly
A 0. D, E

[Option ID = 2412]

34) Indian National Ambient A Quality standards stipulate the maxumum permissible limit of

annual mean concentration of PM=s to be

T TS i A E T AT 00 T S0 9SSR o AaEan S H A
[Question ID = 604][Question Description = 139_00_General_23_SEPT22_Q39]
G0 pg/m3

[Option ID = 2413]
2. 45 pg/m?

[Option ID = 2414]
3. 40 pg/m?

[Option ID = 2415]

4 95 pg/md

[Option ID = 2416]

35 : : §
) Which of the following are sustainable Development Goals (SDGs)?

(A) No poverty

(B) Zero hunger

(C) Employment to evervone
(D) Quality education

(E) Gender equality

Choose the correct answer from the options given below :

e & o od o = (mmE ) se A E7
(Ay A=A = mETE

(B) w@dgHE

(C) = [0 AT

(D)  ToEET E

(E) T (=) =

o0 70 9% § | HE 3 W =994 i

[Question ID = 605][Question Description = 140_00_General_23_SEPT22_Q40]
1. A B, COnly

a9 A. B. C

[Option ID = 2417]



2. A B.C.DOunly

Fa9 A B.C.D
[Option ID = 2418]

3. A B.D EOnly

Fa7A. B. D, E
[Option ID = 2419]
4 (€. D.EOnly
Fa= C.D.E

[Option ID = 2420]

36) Previous National Education Policy on Education-1936 was modified in the year:

ToreaT W7 T9el TEE [T Al - 1986 = ThE g6 T Henian o a and

[Question ID = 606][Question Description = 141_00_General_23_SEPT22_Q41]
1. 1980
[Option ID = 2421]
2. 1992
[Option ID = 2422]
3 1987
[Option ID = 2423]
41996

[Option ID = 2424]

37 The most mmportant fallout of university reforms under whose leadership. was the first

official announcement of the future education policy of the Government of India to reduce the
tension created among the educated Indians by the process of his unmversity reforms?

Fetleias § @ aE 9909 o S0 el Gan Wi Sy 9hers s §eEE ) aE
Tove it =1 wem R g @, o er 3o favatrmes gan | e 1 foiee gwdE 9

SFURT 50 AT T S AT

[Question ID = 607][Question Description = 142_00_General_23_SEPT22_Q42]
1. Charles Wood

[Option ID = 2425]
2. Hunter

=

[Option ID = 2426]

3. Curzon
= I
[Option ID = 2427]
4. Dalhousie

3 e
=T

[Option ID = 2428]



38 : ; ; ik : ; -
) Which of the following umiversities have been recogniged as Institutes of Eminence?

(A) Banaras Hindu University

(B) Amrita Vishwa Vidva Peetham
() Caleutta University

(D) Cental University of Hyderabad
(E) Jawaharlal Nehru University

Choose the most appropritae answer from the options given below ;

friferlian @ % T avalaen=al #1 zope 9eaE =9 5 qra 5 2

(&) =E T FvaieTeE
(B) A ETEETEE

(T Tl vl

=+ | ] < 3
(D) #Ze gHaEEd ATE 75

{E) TR A2 [AvaaETE

Tou T ol § | TR S T = R

[Question ID = 608][Question Description = 143_00_General_23_SEPT22_Q43]
" A Band EOnly

a9 A, BARE
[Option ID = 2429]
2. A BandD Only

FAFA BHER D

[Option ID = 2430]
3. C,DandE Only

Faa C. D 3T E

[Option ID = 2431]
4. A B, CandD Only

F=AA B.CaR D
[Option ID = 2432]

39 . : - ; : :
) Which of the following recognised for the fivst time that the government should zive ‘frank

and cordial support’ to female education and take effective measures for its expansion?

FeiaEa § O (50 T2 97 95 9F A1 = 9vRT R Al G F P92 UE AeE a9 51 91

[Question ID = 609][Question Description = 144_00_General_23_SEPT22_Q44]

. Women's Indian Association

[Option ID = 2433]



2. AY India Women's Conference

[Option ID = 2434]
3. The Woods Despatch

8 = T=orT

[Option ID = 2435]
4. National Council of Women

[Option ID = 2436]

40 : ] ; e i 1 . fiks
) The Acts of incorporation passed 1n 1857 provided for the estabhshment of Universities of

Calcutta. Bombay and Madras on the model of:

1857 © wifg TomEeE AAtaEn O e Bvatsmem % uiaes W smaia FeEe, 592 90 T F

Teoatarmer =Rl =T T WA e T A
[Question ID = 610][Question Description = 145_00_General_23_SEPT22_Q45]
. Cambridge University
:.Jﬁ- -E i"'-l'_n

[Option ID = 2437]

z. University of Harvard
JEiad AF FEE
[Option ID = 2438]
3.

Oxford University
o - ! _r' 1-_.;

[Option ID = 2439]
4.  Universitv of London

- r F T e
E 4_1 L=
[Option ID = 2440]

Topic:- 12_GP_SH2_Set1_C



1)

Read the passage and answer guestlons from questions 46 to 50

There i1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz reflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
lLibertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves. It is a fact that individuals malke often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete zelf-contral, Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

FrfetEa T i T ST TS WEN 46-50 F I A
TSRS, SR HEhA S TSI EFeWR T A B Al S A AW S (S S
= 21 zmE ot 7 A 12 # T 2 gt st v = #) 3t 3 s o e 2w aem we,
m?mirrrﬂrm‘errrn—-iaﬁ}‘r?'—m JWqﬁW?ﬂTmﬂqnﬁﬂﬁn‘ IAFIF 2| THeaHEE
AT T A 75 99 FA ] 2| e MgEaEe] 92 90 F4 2  ar 99 F 16 m=Ee
=M =an AT T8 T e i A 2 s 9 o e W A a9Ee T W 36 gig Al
Wqﬁwmqﬁﬁ’a ﬁmﬂmﬂwm?mwmﬂimui.MIH‘JEI‘**MHH
FETF AT R G S, S T S S g 2| A 0, S50 HewE s w0, w5 e
WWWWTWWWWWW&WHWWWWWW Tig
Elatn e e B S e T et A B 1o o e e O e B o 2 et Bl e 1 ) 2 e e e o2
FAl 7| TR UH A% R TR A0 T e S AU A 2| A4 S0 W S Ad, 3 9 SR g=AT
1'—*4«;_1Hﬂ|d|r; T HFTEEET A, T A AaaraAanEs TR H F-iq#!ﬂldlc_ 2 F91RF == S0 I ‘gT oE e
TEl T R

The movement of libertarian paternalism is unattractive as it is a combination of

ST TIHaTEE # ATSe SHETF - 2 9 T e F mE A

[Question ID = 611][Question Description = 146_00_General_23_SEPT22_Q46]

1.

2.

3.

Commean senge concepts

[Option ID = 2441]
Dogmatic concepts

[Option ID = 2442]

Contradictory concepts



4.

2)

[Option ID = 2443]

Popular culture and politics

[Option ID = 2444]

Read the passage and answer guestlons from guestions 46 to 50

There 1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepis seem to be contradictory. If the terms are
properly understood. both concepiz rveflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they Dhike. If 1z also to opt out of undesirable amrangements. if they want to do so. The
libertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It i1s to make people's
lLives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer peoples choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves, It is a fact that individuals malke often pretty bad decisions, These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking

bad decisions.

FreAferfiga e 1 ATz o WY TN 46-50 F I Afan-
AR SR BRI TSI % Eel F U A F Amd SN (S S
ZA1 2| 5EE 01 g W T 2 TF 3 guone StEdt U =l 8l TS T iHeiTE e s =1 9 69y 9,
m?mirrrﬂrm‘errrn—-iim?r?'—m JWqﬁW?ﬂTmﬂqnﬁﬂﬁﬁ AFIF 2| HearHEE
=EENSA] § AT T A A R | e a9 SmE 6 2 6 S g9 e =
=H =1t A 58 W g i Al 2 s o i e @ A 3geEd W I Jig =
T 94 39 7 9 e 7 5 @ w5 =EEn e A F 6 92 AR F A 39 R | S
FETF A R G S, SO e S " g 2| A A, S0 5ewE s | o, w5 e
WWWW?WWWWWHT&WWWWWWWWW 7T
Elatn e e S o e et A B e 1o o e e O L B o 2 e Bl e 1 e 2 e e e o2
FAT #| AE U A% 2 TF G0 T Aed g FUF FAd 7| g \E 9 S Ad, 39 9 AR g=E
54«;_1Hﬂ|d|c T HFUEEET A, T A SaaraAanEs TR H fulj_ﬂﬂlcuc_ 2 F91FF == S0 js,jT TE e g
R o Bl

The lihertarian strategy insists that people should opt for

TEEHTHATE 1O 59 AW T AW Al 7 T 0T # AEAngs e =ie-

[Question ID = 612][Question Description = 147_00_General_23_SEPT22_Q47]

1.

2.

Freedom of cholce
=T T TRl

[Option ID = 2445]
Paternalistic support



e T

[Option ID = 2446]

Even undesirable arrangements
oA AT o

[Option ID = 2447]

4. Moaodification of then freedom

T T B A

[Option ID = 2448]

3)

Read the passage and answer guestions from questions 46 to 50

There is-a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotvpes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz rveflect commion sense. They are far more atfractive
together than alone. According to the hibertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
libertarian paternalists urge that people should be free 1o choose. Policies are desizned to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hves, A policy 1=
paternalistic. if it tries to influence choices that make choosers better off. as judged by people
themselves. It 1s a fact that individuals make often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete =zelf-control, Libertarian paternalism. however. 1= a relatively
weak. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.

e e (e Geiieen) F T SR 3 oA WET oeE e 2 A o
MWWW E e L oo Lo e B ol e e o B 1 e e e e e

= #1 T o 77 AW T R P % e s S A A 2 3w s o S e e,
m?mirrrﬂrm‘errrn—-iaﬁ}‘r?'—m Al 3RS F A T AT R H A s 2 e
AL T A 75 F 99 FA 41 2| e MgEaEel 92 90 Fd 2  ar 99 F 16 m=E
=M =an AT T8 TR e i A 2 s 9w o T @ A 99Ed T W I gig Al
Tosemaw) 99 s 7= | Al 7 ﬁmﬁmﬂwm?mwwﬂi#m?gqu‘IEI‘*“I%HJ
T A F A A, ITGF T 367 " g 2| T & 6, 3 TR &9 § o), HEE S A
EaR Rl i e e B 8 e e e B e i e e e e 1 B e e e | o
EElth e e B e e T et B 1o o e e O e B 2 e Bl e L e e e e o2
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1'—*4:;_1Hv1|d|r; T HTEEET A, T O SAaraanEs TR H F—iq#iﬂldlc_ 2 F91FF == S0 I ‘gT E e
EEAR o Bl

The libertarman paternahsts seek policies aimed to



[Question ID = 613][Question Description = 148_00_General_23_SEPT22_Q48]

1.

4.

4)

Change the people’s preferences,

=T EaEE § A

[Option ID = 2449]
Preserve the People’s iberty of choice

[Option ID = 2450]
Burden the people with choiees.

M W =T F e w A S

[Option ID = 2451]
Make the people's cholces legitiniate.

T F =9 A9 A

[Option ID = 2452]

Read the passage and answer guestions from gquestions 46 to 50:

There is a new movement called libertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepis seem to be contradictory. If the terms are
properly understood. both concepiz rveflect common sense. They are far more atiractive
together than alone. According to the libertarian strategyv. people should be free to do what
they like. It 1z also to opt out of undesirable arrangements. if they want to do zo. The
libertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architects to try to influence people’s behaviour, It i1s to make people's
lLives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer peoples choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves, It is a fact that individuals malke often pretty bad decisions, These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete self-control. Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The government and private institutions should make efforts to

[Question ID = 614][Question Description = 149_00_General_23_SEPT22_Q49]

1.

2.

3.

4.

Prevent people from talong bad decisions
FT S BE w4 H T
[Option ID = 2453]
Allow people to go thelr own way
[Option ID = 2454]
Make people judge themselves
ST 1 A A0 H = T A oA
[Option ID = 2455]
Steer people’s choices for improving their lives,

[Option ID = 2456]



5)

Read the passage and answer guestlons from questions 46 to 50

There i1s'a new movement called Iibertarian paternalism which is not attractive. Both words
are characterised by stereotypes from popular culture and politics that make them
unappealing to manv. Even worse. the concepts seem to be contradictory. If the terms are
properly understood, both concepiz reflect common sense. They are far more atiractive
together than alone. According to the libertarian strategy. people should be free to do what
they DLike. If 1z also to opt out of undesirable arrangements. if they want to do so. The
lLibertaran paternalists urge that people should be fiee to choose. Policies are designed to
maintain or increase freedom of choice. The paternalistic aspect lies in the claim that it is
legitimate for cholce architectz to try to influence people’s behaviour, It i1z to make people's
lives longer. healthier and better. Insitutions in private sector and also the government
should make conscious efforts to steer people's choices to 1mprove their hives, A policy 1=
paternalistic. if it tries to influence cholces that make choosers better off. as judged by people
themselves. It is a fact that individuals malke often pretty bad decisions. These would not
have been made. had they paid full attention and possessed complete information. unlimited
cognitive abilities and complete zelf-contral, Libertarian paternalism. however. 1= a relatively
wealk. soft and non-Intrusive tvpe of paternalism. because 1t does not force people from taking
bad decisions.
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The focus of the passage 1z on
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[Question ID = 615][Question Description = 150_00_General_23_SEPT22_Q50]

1.

3.

The oppesition to libertarian paternalism
g MgETEE w1 e

[Option ID = 2457]
The unlimited cognitive abilities of individuals.

T I ST S AR

[Option ID = 2458]
The freedom of cholees for a better society,

[Option ID = 2459]



4 The need to ignore the defects of libertarian paternalism.
T TgETET R I e A

[Option ID = 2460]




